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Math 204 - Differential Equations
Final Exam Janua,ry 7, 2012

Duratlon. 150 mmutes

‘Instructions: Calculators are not allowed. No books, no notes, no questions, and no talking -
allowed. You must always explain your answers and show your work to receive full =
credit. If necessary, you can use the back of these pages, but make sure you have indicated
doing so. Print (i.e., use CAPITAL LETTERS) and sign your name, and mdlcate'
your section below

“Name, Surname: ___ KE Y R T

Signature:

Section (Check Oﬁe):

Section 1: E. Ceyhan (Mon-Wed 12:30)
Section 2: E. Ceyhan (Mon-Wed 15:30)
Section 3: B. Cogkuniizer (Tue-Thu 12:30)
Section 4: B. Cogkuniizer (Tue-Thu 15:30)

PROBLEM | 1 | 2 | 3| 4| 5 | 6 | 7 | TOTAL

POINTS | 15 | 12 | 14 | 14 | 16 | 15 | 14 100

'SCORE
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1. (15 pbints) Solve the following differential equations.
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2. (12 points) Find the general solution of the given differential equation.
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3. (14 points) Determine the general solution of the given differential equations.
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4. (14 points) Find the power series solution of the following difféféﬁtié.l eQuation about ;
‘2o = 0. Determine also the radius of convergence of the series solution you found. )
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5. (16 pomts)
(a) Express the solution of the given initial

g2y ry=g) WO =2 VO="3
Lqp\ace -L(ay\s_@rm of —m& .€. hae,*w wih dhe witial
eV - 2543 4 2.5‘{(5\ —L \Im—— Gls)
= (st v
s+ N) = Zs**\*c:(s) __7' Ny - 2sth ¥ Gls)

value problem in terms of & convolution integral.

conditions:

B‘d Qar’uq\ '(Cocz\xov‘s 3__-_”:_”__\__ ) 2.- \ (‘S* (”“t e
| (54'01' ~ S+4 - (st 3 a-M‘S le and -
Ciaml-tet 'Ba e _comsaion A seloge———
L;)g), :" (L-4) + T(t—‘c) e 3(':) d’t",]
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6. (15 points) Find the general solution of the following systems of équa.tions (if the general
solution is complex-valued, express it in terms of real-valued functions). '
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ind the general solution of the following system of equations.
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